April 1, 2020

37) A manufacturer produces two models of bicycles. The times (in hours)
required for assembling, painting, and packaging each model are as follows:
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41) A farming cooperative mixes two brands of cattle feed. Brand Mooby costs
$25 per bag and contains two units of protein, two units of carbs, and two

units of silage. Brand MmmSteak costs $20 per bag and contains 1 unit of
protein, nine units of carbs, and three units of silage. Find the number of
bags of each brand that should be mixed to produce a mixture having a
minimum cost. The minimum requirements of Qote\i carbs, and silage are
12, 36, and 24 units respectively. ;xo"'g-
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